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Q1.What will be the value of

sin(11pie/6)

HTE 19 H< sin(11pie/6)
(1)2/\/3
(2)1/2
(3)-2/1/3
(4) -1/2




©)

Wi,

Q2. if tanA =5/12 then find the value of

sinA+cosA—tanA
the

secA+cosecA —cot A

HTT ATd El% sinA+cosA—-tanA

secA+cosecA —cot A

(1) 995/1001
(2) 885/43
(3) 432/445
(4) Not




0=1
Q3.cos 25 NG

?ll;pen fi n%the value of

cos65° +tan25°




Q4.Sin 21° == then find the value of
T H/IT ST FX

sec 21° - sin69°




Q5.What will be the value of /
HI JATd P sinX —cosX
If

sinX +cosX =17/13




(Q6.What will be the value of / HI JTd aﬁ
2 2

ECOSECZSSO - 3 cot58%tan32°

gtan13Otan370tar1450tar1530tar17'7O




Q7 .If sec 17° - sec73°

What will be the value of / HIH JTd Y
Sin 17° = x/y




(Q8.What will be the value of / HI JTd
PN cos X
1 1

1
cosx cotx p




(Q9.What will be the value of / HI JTd
aﬁ. tan‘x+1

tan’x—1
sinx+ cos x

=5/4

sinx —cosx




(Q10.What will be the value of / HI JTd

ﬁ tan3x

Tan7x tan2x =1

1
(1) NG
(2) V3

|

not




Q11. If  Yi=sinx

" V1+sinx

What will be the value of / HT9
ATd Y

_ 8
tanX T

1) 143
(2) 3/5
(3) 2/5
4) 0
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Q11.What will be the value of /
HTT JTT Y
7/sec?x +3/(1+cot?x) +4sin?x

(1) 8
(2) 6
3) 9
4) 7




Q12.X sin45 =y cosec30
4
Find /3Ta X §—4

(1)4°
(2) 6°
(3) 2*
(4) 8°




QQ13.What will be the value of /
HI JATd &Y sinx - cosx
Sin x + cos x =17/13 ,




Q14.What will be the
value of / |19 JTd &< sinx
If

Sec x =25/24
(1) 24/25

(2)7/25
(3)25/7

(4)24/7




(Q15.What will be the value of /
AT T DY secx
if

9
tanX =—

40




Q1.What will be the value of /
HTT ATT Y sinX —cosX
1i

sinX +cosX =17/13

(1) 5/17
(2) 7/17
(3) 7/13
(4) 3/19




Q2.What will be the value of / ATF
AT tanX = ?

If

7sin?X +3cos?X =4 (1) 13

(2) V3
(3) 1
4) O




Q3.What will be the value of /
HTT ITd < cos X

(1) =2

p*+1

(2) =,

p*+1

(3) 2

p*+1

(4) 1/p




Q4.What will be the value
of / /T FTT &<

7/sec?x +3/(1+cot?x)
+4sin?x (1) 8

(2) 6
3) 9
4) 7




Q5.What will be the value of
| AT 1T ¥ cosX
if cosecX —cotX =5

ORELE

(2) 12/11
(3) 11/15
(4) 12/13




Q6.What will be the value of / T
FTT Y

sinX

if secX +tanX =4 (1) 13/15

(2) 15/17
(3) 17/15
(4) 17/13




Q7 .What will be the value of /
HTH FATd <

sinX +CosSX
if ;
Secx +tanx =2 +V5 (1) 3

(2) =
(3) 7/9
(4) not




Q8.What will be the value of /
HTT 3T ¥ cos? X —sintX +1
if cos2X —sin4X =1/3

(1) 1

(2) 1/3

(3) 4/3
(4) 5/13




TSI G205 (RSl et
QO. |f/qﬁ Sinx+cosec X

Sin®°x + cosec®X =?
(1) 1
(2)2
(3) 0
(4)-1




Q11.What will be the value -
of / AT ATd X
1/(1+tan2x) +1/(1+cot2x)

ON
(2) 2
(3)0
(4) .5




Q12What will be the value

of / HTH ATd #¥ sinX
If/ate

Cotx +cosecx =3

(1) 3/4
(2) 3/5
(3) 4/5
G




